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C5-2852 - Dr. Durant - Quiz 1
Spring 2014. Week 1

2. (4 points) Given:'interface Intr with method inO properly implemented by concrete (instantiable,

not abstract) class CIa with method d(). Is each of the following legal or illegal? (If multiple lines

and illegal, indicate the first illegal line for full credit.)
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3. (3 points) Recall that CharSequence is an interface of String that consists of 4 methods: charAt,

length, subSequence, and teSt ring. You've been asked to write a function that performs

calculations on a string and you find that only the CharSequence methods are needed. What

benefit do you gain by restricting yourself to using only the CharSequence interface to do your

calculations?
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